
   P. T. O. 

No. of Printed Pages : 8 BZYCT–133 

 

BACHELOR OF SCIENCE (GENERAL) 

(BSCG) 

Term-End Examination 

December, 2023 

BZYCT-133 : COMPARATIVE ANATOMY AND 

DEVELOPMENTAL BIOLOGY OF VERTEBRATES 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any 

four questions from Question Nos. 2 to 7. 

Draw well-labelled diagrams wherever 

necessary.  

1. (A) Define the following terms :  5×1=5 

(i) Wolffian duct 

(ii) Sertoli cells 

(iii) Gastrulation 
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(iv) Cell movements 

(v) Delamination 

(B) Match the following : 5×1=5 

 A  B 

(i) Ilium (a) Crocodiles 

(ii) Air chamber (b) Cerebrum 

(iii) Scent glands (c) Water insoluble 

protein 

(iv) Telencephalon (d) Pelvic girdle 

(v) Keratin (e) Amphipnous 

2. (a) Discuss the structure and functions of 

Integument. 5 

(b) Explain any one endoskeletal structure of 

vertebrates with the help of a suitable 

diagram. 5 

3. (a) Differentiate between any two of the 

following : 2×2.5=5 

(i) Reptilian digestive system and avian 

digestive system 
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(ii) Male and female genital system of 

mammals 

(iii) Embryology and developmental 

biology 

(b) What is Autophagy ? Explain its role in cell 

death.  5 

4. Explain the following terms : 5×2=10 

(i) Cell adhesion 

(ii) Hatching 

(iii) Gametogenesis 

(iv) Spermiation 

(v) Blastomeres 

5. (a) Discuss briefly the mechanism of 

pulmonary respiration in frog. 5 

(b) Explain the tripartite concept of kidney. 5 

6. (a) Discuss the structure of pancreas with the 

help of a suitable diagram. 5 

(b) Make a flow chart to show the primary 

divisions and their subdivisions of the 

nervous system. 5 
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7. Write short notes on any two of the following : 

5×2=10 

(a) Sensory receptors 

(b) Nerve cell structure 

(c) Fertilisation 

(d) Foetal development 
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5×1=5 

(i)

(ii)
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(iii) ª

(iv)

 (v)

×

 A  B 

(i) (a) 

(ii) (b) 

(iii) (c) 

(iv) (d) 

(v) (e) 
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×

(i)

(ii)

(iii)

×

(i)

(ii)

(iii)

(iv)

(v)
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